BANK BRADESCO Form 6-K October 08, 2015

UNITED STATES SECURITIES AND EXCHANGE COMMISSION

Washington, D.C. 20549

FORM 6-K

REPORT OF FOREIGN PRIVATE ISSUER PURSUANT TO RULE 13a-16 OR 15d-16 UNDER THE SECURITIES EXCHANGE ACT OF 1934

For the month of October, 2015 Commission File Number 1-15250

BANCO BRADESCO S.A.

(Exact name of registrant as specified in its charter)

BANK BRADESCO

(Translation of Registrant's name into English)

Cidade de Deus, s/n, Vila Yara 06029-900 - Osasco - SP Federative Republic of Brazil (Address of principal executive office)

Indicate by check mark whether the registrant files or will file annual reports under cover Form 20-F or Form 40-F. Form 20-FX Form 40-F
Indicate by check mark whether the registrant by furnishing the information contained in this Form is also thereby furnishing the information to the Commission pursuant to Rule 12g3-2(b) under the Securities Exchange Act of 1934.
Yes NoX

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In September 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.			
Group and Family Dependants	(x) Controller's		
	Openning Balance		
Type of Securities/Derivatives	Quantity	% of participation	
		Same type of Shares	Total
Common Shares	1,838,735,660	72.8395	36.4197
Non-Voting Shares	55,640,683	2.2041	1.1020
	Closing Balance		
Type of Securities/Derivatives	Quantity	% of participation	
		Same type of Shares	Total
Common Shares	1,838,735,660	72.8395	36.4197
Non-Voting Shares	55,640,683	2.2041	1.1020

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In September 2015 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Brac	lesco S.A.					
Group and Family Dependants	(x)Board of Directors	() Board of Ex Officers		() Aud Commit		() Technical and Advisory Agencies
•		Openning Bal	ance			, 3
Type of Securities/Derivatives		Quantity		% of participation Same type of Total Shares		
	Common Share	es		17,9	33,382	0.7104 0.3552
	Non-Voting Shar	res		24,4	32,180	0.9678 0.4839
	-	Month Mover	ment			
Type of	Broker	Operation	Day	Quantity	Price	Value in R\$
Securities/Derivatives						
Non-Voting Shares		Buy	4-Sep	12	22.38	R\$ 268.56
Non-Voting Shares	Duadasa C A	Buy	4-Sep	68	22.40	R\$ 1,523.20
Non-Voting Shares	Bradesco S.A.	Buy	4-Sep	100	22.39	R\$ 2,239.00
Non-Voting Shares	C.T.V.M.	Buy	4-Sep	5	22.95	R\$ 114.75
Non-Voting Shares		Total	·	185		R\$ 4,145.51
_	Closing Balance					
Type	of Securities/De	rivatives		Quant	ty	% of participation
						Same type of Total Shares
	Common Share	es		17,9	33,382	0.7104 0.3552
Non-Voting Shares			24,4	32,365	0.9678 0.4839	

Company: Bradesco	Leasing S.A. Arro	endamento Mercantil			
Group and Family	(x)Board of	() Board of Executive	() Audit	•) Technical and
Dependants	Directors	Officers	Committee	Ad	visory Agencies
		Openning Balance			
Туре	e of Securities/Der	rivatives	Quantity	%	of participation
•			-	Sa	me type of Total
					Shares
	Common Share	es		0	0.0000 0.0000
	Non-Voting Shar	res		0	0.0000 0.0000

Edgar Filing: BANK BRADESCO - Form 6-K

Closing Balance			
Type of Securities/Derivatives	Quantity	%	of participation
		Sam	ne type of Total
		S	Shares
Common Shares		0	0.0000 0.0000
Non-Voting Shares		0	0.0000 0.0000

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In September 2015 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.						
Group and Family	()Board of	(X) Board of E		() Aud		() Technical and
Dependants	Directors			Commi	ttee	Advisory Agencies
_		Openning Ba	lance			
Туре	of Securities/De	erivatives		Quant	ity	% of participation
						Same type of Total Shares
	Common Shar	00		2	56,610	
	Non-Voting Sha				77,305	
	Non-voting Sna	Month Move	ment	۷, ۱	11,303	0.1100 0.0550
Type of	Broker	Operation	Day	Quantity	Price	Value in R\$
Securities/Derivatives			<i>-</i> w,	a a a a a a a a a a a a a a a a a a a		
Common Shares		Buy	28-Sep	1	23.46	R\$ 23.46
Common Shares		Total	•	1		•
Non-Voting Shares		Buy	28-Sep	2	21.16	R\$ 42.32
Non-Voting Shares		Total	·	2	21.16	R\$ 42.32
Non-Voting Shares		Sell	28-Sep	1,000	21.14	R\$ 21,140.00
Non-Voting Shares		Sell	28-Sep	1,000	21.15	R\$ 21,150.00
Non-Voting Shares		Sell	28-Sep	1,000	21.20	R\$ 21,200.00
Non-Voting Shares		Sell	24-Sep	1,034	22.00	R\$ 22,748.00
Non-Voting Shares		Sell	17-Sep	2,000	24.90	R\$ 49,800.00
Non-Voting Shares	Bradesco S.A.	Sell	15-Sep	2,300		• •
Non-Voting Shares	C.T.V.M.	Sell	15-Sep	2,700		• •
Non-Voting Shares	O. 1 . V .IVI.	Sell	15-Sep	6,970	23.90	R\$ 166,583.00
Non-Voting Shares		Sell	16-Sep	1,627		• •
Non-Voting Shares		Sell	1-Sep	880		' '
Non-Voting Shares		Sell	18-Sep	300		• •
Non-Voting Shares		Sell	15-Sep	800		• •
Non-Voting Shares		Sell	9-Sep	850		• •
Non-Voting Shares		Sell	16-Sep	3,942		
Non-Voting Shares		Sell	15-Sep	2,049		• •
Non-Voting Shares		Sell	15-Sep	1	23.90	R\$ 23.90
Non-Voting Shares		Total		28,453		R\$ 673,067.07
_		Closing Bal	ance			
Туре	of Securities/De	erivatives		Quant	ıty	% of participation
						Same type of Total
	0 0'			_		Shares
	Common Shar	es		2	56,611	0.0101 0.0050

Edgar Filing: BANK BRADESCO - Form 6-K

Non-Voting Shares 2,748,854 0.1088 0.0544

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In September 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.					
Group and Family Dependants	()Board of Directors	() Board of Executive	(X) Audit Committee	() Technic Advisory Ag	
	Directors	Officers	Oommittee	Advisory A	generes
	Openning E	Balance			
Type of Securities	/Derivatives		Quantity	% of partic	pation
				Same type	Total
				of Shares	
Common S	hares		30,471	0.0012	0.0006
Non-Voting S	Shares		443,758	0.0175	0.0087
	Closing Ba	alance			
Type of Securities	/Derivatives		Quantity	% of partic	pation
				Same type	Total
				of Shares	
Common S	hares		30,471	0.0012	0.0006
Non-Voting S	Shares		443,758	0.0175	0.0087

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In September 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.					
Group and Family Dependants	()Board of Directors	() Board of Executive Officers	() Audit Committee	(x) Technic Advisory A	
	Openning E	Balance			
Type of Securities/I	Derivatives		Quantity	% of partici	pation
				Same type	Total
				of Shares	
Common Sh	ares		1,540	0.0000	0.0000
Non-Voting SI	nares		3,976	0.0001	0.0000
	Closing Ba	alance			
Type of Securities/I	Derivatives		Quantity	% of partici	pation
				Same type	Total
				of Shares	
Common Sh	ares		1,540	0.0000	0.0000
Non-Voting SI	nares		3,976	0.0001	0.0000

SIGNATURES

Pursuant to the requirements of the Securities Exchange Act of 1934, the registrant has duly caused this report to be signed on its behalf by the undersigned, thereunto duly authorized.

Date: October 8, 2015

	Luiz Carlos Angelotti Executive Managing Officer and
By:	/S/ Luiz Carlos Angelotti
BANCO BRADESCO S.A.	

FORWARD-LOOKING STATEMENTS

Investor Relations Officer

This press release may contain forward-looking statements. These statements are statements that are not historical facts, and are based on management's current view and estimates of future economic circumstances, industry conditions, company performance and financial results. The words "anticipates", "believes", "estimates", "expects", "plans" and similar expressions, as they relate to the company, are intended to identify forward-looking statements. Statements regarding the declaration or payment of dividends, the implementation of principal operating and financing strategies and capital expenditure plans, the direction of future operations and the factors or trends affecting financial condition, liquidity or results of operations are examples of forward-looking statements. Such statements reflect the current views of management and are subject to a number of risks and uncertainties. There is no guarantee that the expected events, trends or results will actually occur. The statements are based on many assumptions and factors, including general economic and market conditions, industry conditions, and operating factors. Any changes in such assumptions or factors could cause actual results to differ materially from current expectations.